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Instructions for Candidates

1 Write your Roll No. on the top immediately on receipt

of this question PaPer.

2. Attempt all questions.

3. Atl questions carry equal marks.

4. Answers may be written either in English or Hindi;

but the same medium should be used throughout the

paper.
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qEftcf+*ytnfffts 
r

qrff er-+ * er6 mrq i r

{€ vrr-q;r 6r BrR srilSqr Eff ffi q6 qrsr i Afrg, tfu-{
t:t Ef,t a,r cnan 1-s' A +{r qGq I

(a) "Variable cost may .be direct or indirect.,' Is it
true? If so illustrate giving two examples.

(b)."Cost Accounts are the key to the economy in
manufacturing sector and are indispensaLle to the

intelligent and economical management of a

factory." In the light of this statement, Ex.plain

the advantages of Cost Accounting. (5,10)

OR

(a) What are the similarities and dissimilarities between

Job costing and Contract Costing.

(b) "Limitations of financial accounting have hade the

management to realize the importance of cost

accounting." Comment. (5,10)

23

(c,) c'nw q-drs fr irrr+i {r frie qffi d arrrc *t
E+c ffi.€ q+ ffi{rrd ql.t Bit- sn-s$q6 B .*r r-{
c-{+fr 6 anrqr 6frq * fusrrd t c+rr 6-i t-+,i

RI

(e) r* mt +{rr e t ao rr crd + ii * 
"ro 

g.
-. +fr *r zra €m B q{ 16 z.r B& e{T c v{ qrfr

{rcr{ Edr(& qa €sm C rR 02 r;r unfr + qlgr

T{, *s *+ * qrd Si €:m e vt c-g-dft *r a *("
B, B + C ofrr frt c t a * d-s fr {t m.qvr: eo

G;ft, rzo ffi ft roo ffi *r ffier E{-ffi *r
srFrfuq- r+-ffi * rrqql qifrq,

(rr) fiqfrtun fut{ + fts dFH qB{t-

vqrr&) q v*o sEM qrq qi:
(i{-R-+tgt

(i) { 25,ooo fr ff{ff 'fE t 5-6m- qt *a fl rr{r

(ii) lrrdm ftqT rrqr to6ir E-d +d;T { 4o,ooor

(iii) qEq frfu *t rrcq ftqr t ff+ftr q.r utrrcrq

2

J.

4.

? 2000 I

P.T.O.



658 ', ',

{ 68,000 fr arrm t z,ooo roeA d ffi qfrql t g6

qhqr n prnrffid frqr zrqr lr Et qfr'qr i- a+ qlal drrrd

t zo Gr& $ 5s 6H d sfrRft rrsrqH-o qffift * €t-€

nrea lr q-*6 i < oo cH dh{ d arrra sngtr Es cfr'qr

i frs rrs 3pq rqd {. 26,2e4 *t slrc *t vr E{ cfrql +

s% E<ge E6.r{ci qfrrK i qrft ir eIftrR S{,r{a d
<20 cfr cF-. d a t *qr irrm +l rqrfr qk t 6 vR

o't<< c( +i Gri t, AB-{ 2% q,tq{ €rrq A vri I *t
i.+n i crt *r

frs {qI6 * fts dFrd ql ft-+rur frqr rrqr l, 3{ cfrql

i Ea r,e3o r+rgd qt * w, tft-< *c-d az €rff

6?-{r ff it ur c* Blh sre eftoe i rrqr E€ yB-qr t
serfra roo r{rstfi @ < so cR qh-c * qrrt i-S zr{r

tq vBqr i{tsc5e d s[rrfr,ehqr i erraffif, qr Eqr rrqt
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(6) "qfrq-+ftq drkr JteIH qT sIneEI fr v+-fr lr" er
qr rs l? qE t{r * d d rerrwr ?t gv ww

dfrsl

(t<) "ar .rrn.qrt Effi'r & t $tqse{ fr 1;S e *t
$6 6rCrI;T A grarn sm r+cr+m rq-u=- a iEq

qqp6r{ " E€ 6'qn A e-6pr t arrn ffia *
arrt * qr{qr dftqt

qT

(q) frs 6iErr alr 6i*{c sifu + ffq trla.drs *r
effiqrfirs flr i?

(€) .Ffrq e(qrfi fr frcr$ + lrfir{ d arrrd *rqi6{

* qra qr \r6iIRI t6{qI g,' Pqol frfrvt

(a) The quarterly production of a company's product

which has a steady market is 20,000 units. Each

unit of product requires 0.5 kg. of raw material

The cost of plaqing one order for raw material is

t 100 and the inventory carrying cost is ?2 per

annum per kg. The lead time for procurement of

q| 2

*ts qro, fr{d d( relrdI, smFlrq nftzarq €rdr ofu

dkrr ff G v€'rqrdr *qn dftqt

zII
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between A and B, B io C and then from C to A
are 80 km., 120 km,. and 160 km, respectively.

Calculate Absolute tonne- km and Commercial

tonne-km.

raw material is 36 days and a safety stock of
1.000 kg of raw materials is mainrained by the

company. The company has been able to negotiate

the following discount structure with the raw

material supplier:

Order Quantity
Kg.

Below - 6,000

6,000 8,000

8,000 - 16,000

16,000 - 30,000

30,000 - 45,000

Discount per order

?

NIL

400

2,000

3,200

4,000

(c) Pass the Journal Entries

(non-Integrated system)

Transactions:

in the cost Books

for the fol lowi ng

(i) Material u,orth ?25,000 returned to stores

from the job.

(ii) Gross total wages paid (48,000.

(iii) Employers contribution to the provident

fund and state insurance amounted to

r 2000

(iv) Wages analysis book detailed { 20,000 for

direct labour, ? 12,000 towards indirect

factory labour, t 10,000 towards salaries

to the office staff and ( 8,000 towards rhe

salaries to the selling and Distribution staff.

(5,5,5)

You are required to :

(i) Calculate the re-order point taking 30 days

in a month..

(ii) Prepare a statement showing the total cost

of procurement and storage of raw

materials after considering the discount if
the company selects to place one, two, four

or six orders in the year.

P.T.O
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at ( 6 per container, but 2olo of containers get damaged

and become worthless

During the week for which the cost details are given,

a total of 1,930 units were finished at the process but

only 47 empty containers could be sold and the rest

were damaged. 700 units produced at the process

were sold outside (@ ( 80 per unit. Rest of the process

output was transferred to the next procEss.

Prepare Process A/c, Normal Loss A/c, Abnormal

Loss/Gain A/c and Costing P&L A/c. (15)

OR

(a) Indicate the reason why it is usually necessary

for the cost and financial records of a company to

be reconciled and explain the differences which

might enter into reconciliation.

(b) A lorry starts with a load of 40 tonnes of goods

from station A. It unloads 16 tonnes at statron

B and rest of goods at station C. It reaches

back directly to station A after'getting reloaded

with 32 tonnes of goods at station C. The distance

65& 5658

(iii) State the number of orders which the

company should place to minimize the costs

after taking EOQ into consideration.

(10)

(b) What do you mean by labor turnover? What are

the cost associated with it? How would you treat

these cost in the cost accounting? (5)

OR

(a) A company's basic wage rate is {.60 per hour

and its overtime rates are :

Evening - time and one-third

Weekend - Double the time

During the previous year the following hours were

worked :

Normal time

Time plus one-third

Double time

2,20,000 clock hours

20,000 clock hours

10,000 clock hours

Three jobs have been worked on the following

time periods :

P.T,O
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frclqr ffiE{
ffirr qr{ y-{rfr qr

m]fr{ q.rd rlrfr yr

gur+tr fre-*ur arrrO

a_{mrrT 3rk ft+w arra

s<rcr * 1ffid q{rqH-6. sqfrqq

yqnqF-s sqRqq * ssrer + ffid r& *

tBir ama (m"fi6)

dc

Ft{r*- d frqr :rqr }r+

Job I

Clock hrs

Normal time 3,000

Evening overtime 300

Weekend overtime 100

Job II
Clock hrs.

5,000

600

50

Job III
Clock hrs

4,000

1,050

300

243 ,600

361,260

51,600

55,560

s40,000

696,000

6 ,120

5,52 0

543,000

You are required to calculate the labour cost
chargeable to each job in each of the following
circumstances:

(i) Where overtime is worked regularly
throughout the year as the policy of the

company due to labour shortage.

(ii) Where overtime is worked specially at the

request of the customer. (10)

(b) Explain how you would differentiate between
normal and abnormal wastages of material and

their treatment in the cost accounts. (5)

(o-) v+ Rn qrqn srff sffi * sere qr ffi yer+<

2o,ooo E6r€ *r serq d e-+{. E6Ii + frq os frqr
q-{+ qrs qt B{rqt.rqil €f& *r 6-.i qra * frs R-6

Bn'€r t+ d trFkr { loo g .1 1-+fr i vri fr arrra

5 2,000 units have been transferred to a process from

the previous process at a cost ol t68,000. Costs

incurred at the process include a purchase of additional

chemical materials of 50 containers of 20 kg. each at

a cost of ? 60 per container. Other costs incurred at

the process.are Rs. 26,294. Generally 5% of input

units are damaged in the process. The damaged units
are sold @120 per unit. Empty containers are sold

P.T.O.



6s8 7

T(qd dt< (q{cr{ - fiiq dk qaffi
*qrffftqq -driz dt<qtffi
s-firfr b frq ftq qq YrE-fi fr{sq {Frd-

r;qrrqYfrcT {sR * Rq {{s'4r{ qi t.{r{ qFr(

qs+ ftq rrnqfi-{ qrq-(:

- ffi dR sfrrfi
- Srat

*q ff ftft t crF(rf{r GMq cfrcO

"rt 
# cfrqr + ftc crq+ drft-d rA * Rq sr*r{6 tfitr qnn

< 2 yfr s{ qfr ffi{rq }1 5.i rra d rqQ< + frs

erfuq qqq s6 ft-{ + 3lh 6ffi Ett 1,000 ffi{rq q-A

qrT trr {ten €i6 r€I fldI +l ffi q''i qro i
ilqffi * qrrr ffifr+o q. t{-{r q<qrr{-d 6'A

t mrq *,

sitt a1 qrat

ffiqrc
fti - o,ooo

xR str'& qe

658 l8

fttxrdfrfu{r.rqr}irc

ztt

trd *{ Tffi + fts trtqd *t rc+<qrq

Rli'd Blt{ qffi + frq Yrdrt fuql rrqr

+qr fffrqq

3,92,200

38,400

34,400

37,M0

3,60,000

4,64,000

3,680

4,080

Brt<, zozo q] wr< 3rsft + fts v6 gf,rrc + FdErd A-cr

frfrts + +{dr6n Em FrqRR'{d arrn G-<q nErJf frq ]IS

tr enq-d stqrc< arrrt d rrsrnr o-c* *r (qs arrm fu+-q

qra-d fi uqfr{ e''6) :

ffirr v-ser <mfi 172,800

rser qrqfi €t-{ 3,840,000

r&fu{r rfls ff{fr 267 ,600

q-ilir 6-ffi drrrd r,392 ,000

rgar qq 30,000

6,000 - 8,000

8,000 - 16,000

16,000 - 30,000

30,000 - 45,000

r{q-d ffit{d 6r{r *:

(0. vo .rat t so R-{ qr{+ Es 5.{: m€i G'E *
rrurar frfrgr

(ii) qR 6ffi q{ fr c+,, t, qR qt 66 Bf& +{r

qqlq otft t, * W qr F-qn 6A * qre 6-"i

cre d rst-a 3frt q-eRur d Aa wn wft Ev

\16' G-{rur +qR dfrql

588,300

57,600

P.T.O.
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(iii) T6 s-des fr €$qd tar< d rq+ Es arrrd

q} cq qri + ftq 6Tff d ffi sf€( ?}
?IBsr

(tq) ryq Edlilir t onc wr ffifli l? ret gfr qrrrd

wr *? inc arrn fu+< t gt anrfr ei fr-€ ,rfiR
?dt?

t7

Closing Work in progress

Quality Control Cost

Research and Development Cost

Administrative Overheads relating
to Production

Administrative Overheads not
relating to Production

Packing Cost (primary)

Scrap Realised

658

36t,260

51,600

55,560

540,000

696,000

6,120

5,520

zn

(m') r-*' 6ffi d ae ro$ rt 60 ryR u.cr + ii{ Eq-+1

silsrcEq A ;,
rlFr 16r nrq *t c6, ft6r€

{<t6rd - +rf{r

M s{ + +fl{ frqfrfud qt +rq frq rq *:
qHFq € 2,2o,OOO q.s qa

Salary paid to Director 543,000

trq q,ffi 'q +{ frfras, + 6E-d ta t, onq-+i .ror.n
q-rfr * verr;r arrm d urur<r q.rft * (qq drrrir t€rfi
qtq-d m,[ 3q+Ir 6(+) :

r'5rmc€-o
25,60,000

1,15,200

1,78,400

9,28,000

1,62,400

240,U0

rFFr d.rr Rq- M
+gir {qq

2o,ooo q& qa

ro,ooo q& qt
n{ rrc rr *vFtrr etr
o'!vrerrdfrrret*
+ffi qnr< +r Tq-rrr
+*.rc-++qffi6rrq
cr{-rftqr + Tq fr..+; Tfi

qFRI qF'q
.)

ffiR'i-d fiqsfut'+ +{ 614 fus.rs A

P. T. O.
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OR

The following cost details were provided by the

accountant of Veta Ltd. relating to a product for the

period ended December, 2020. You are required to

compute cost of production (using New Cost

Accounting Standards) :

Opening Direct Material 172,800

Direct Material Purchases 3,840,000

Closing Direct Material 267,600

Direct Employee Cost r,392,000

Direct Expenses 30,000

658 9

Repairs & Maintenance for Plant

an{ Machinery

Insurance premium paid for

Plant and l46chinery

Manufacturing Overheads

Opening Work in l)rog ross

588,300

57,600

3

a'Fr I 6r{ II rFI.r III
q.S =itr q.S -itr q.S.tt,

{rqr*I IFFI 3,000 5,000 4,000

rlrc 6r gt{€rfi 3OO 600 '1,050

?rkilaiT fi #d€rsc 1oo 50 3oo

ffik< + t e-46 qfrRrR t YA6 6r{ A fts
cqrd rrc dr.ra 6 :rrm d sr* ?:

(i) "Icd6"ff*qnor6ddffi*w
+ * sq ffifi sq t *+rcrsc qrq fr'ql Brdr

*r

(ii) E6r #qrcrfi Rtq.6q i rr&6 * rgtu w
t5.rq r+-qr urnl ar

(e) w*rre fr' slrc crrff * qrqrq efu srqmrq slqqq

*t ar.rc Erft + v{+ sqsR * A-s ffir +t
qitr

(a) From the following data, work out the pre-

determined machine hour rates for Departments

A and B of a factorY:

243,600

P.T.O.
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Power

Spare parts

Consumable stores

Depreciation on machinery

Insurance on machinery

Indirect Labour

Building maintenance

10

Preliminary esti mates of expenses

658 15

Total

t
15,000

8,000

5,000

30,000

3,000

40,000

7,000

Dept. A Dept. B

3,000

2,W
10,000

5,000

3,000

20,000

The final estimates are to be prepared on the basis
of above figures after considering the following
factors:

(i) An incroase of l0 percent in price of spare
parts.

(ii) An increase of 20 percent in the
bonsumption of spare parts for department
B only.

(iii) Increase in the straight line depreciation
from l0 percent on the original value of
machinery to l2 percent.

mounos ent s

Raw materials purchascd

Opening stock of raw materials

Closing stock nf raw materials

Employec cost paid

Value of opcning Work-in-process

Value of closing Work-in-process

Repair & rnaintenance - plant & rnachinery

Insurance premium - plant & machinery

Quality control cost incurrcd for the products

Research & development cost tbr

improvement in production process

Adnrinistrative cost for :

- Factory & production

Othcrs

Amount rculizcd lirrnt 5alc ol scrap

(manufacturing Proccss)

Packing cost necessary to prcsct'vc thc

goods i<rr further Processing

Salary paid to Dircctor

25,60,000

1,15,200

1,78,400

9,28,000

1,62,4N

240,W

392,2W

38,400

34,400

3,60,000

4,64,000

4,080

3,56,000

37,040

3,680

(iv) l5 percent general increase in wage rates.

D'r^



6s8 t4

(o') vo c,rc€r+ n, \'fi ftis Eqrrr A sqftqq s wt vB

ifi'{ Ea * smm qt s{tr B,s vrt it sr.r< q&i

+ frs Gqrrr A fts frs rs E.d €{ *< qrRE-6

n!t"{ q} ifiT:fi: 8o,oo0 w] *t to,ooo q?t eo,ooo

\qa qi ffir t t rs,ooo wi !m qlqmq * r'6. ffi
* q.nq tq * .rs *r ( s,ooo qq 1116 s.r< i E+'

frq rrg M s{ + T{sJ + #q + qtr qr<fr+'

v+nfl'r 4o,ooo g+6i or nn, frrq+ t 3o,ooo F6r{qI

ffi n{1 anur qr ffiwr or} v<, qr crcl rrqr B
ul irqfrR-( ffis oT 6q7" acwt isql * u'RuI

qr sfu iq qFrq aFFI gA + Ac frr*En qTr sIrq

aFrfr rqra q- q,.{ 3i-{*R-fl 3qR'qc + fliI +qI q{6R

6i+?
/'

(ra) scRqd + sr+.{, Jqdqtr 3tt EqIR{ 6I qoiT

dfrsr

From the following data relatin8 to a manufacturing

company 'New Wave Ltd., /ou are required to'

compute the cost of production (Using New Cost

Accounting Standards) :

1l

The following information is available:

658

qT

Estimated direct labour hours

Ratio of K.W. rating

Estimated machine hours

Floor space (sq. ft)

Deptt. A Deptt. B

s0,000 120,000

5L

2s,000 30p00

15p00 20,000

( l0)

4

(b) What is Activity Based Costing system? Explain

its concePtual framework (s)

OR

(a) In a factory, overheads of a particular department

are recovered on the basis of Rs' 5 per machine

hour. The total expenses incurred and the actual

machine hours for the department for the month

of August were Rs 80,000 and l0'000 hours'

respectively' of the amount of Rs 80'000'

Rs. 15,000 became payable due to an award 9f

the Labour Court and Rs' 5,000 was in respect of

expenses of the previous year booked in the current

month (August). Actual production was 40'000

units, of which 30'000 units were sold' On

P.T.O
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IIBil

++t cr&

gc+,'q rrqi

qstqt qr Ts{m
qrt-<t qt &qr

BIreEt ltc

SFM {(q - T€TE

3,000 5,000

2,000 3,000

10,000 20,000

ffi{rc }t-rr 6r iEqrd

lr{flH-d rfi-{ A

wk +€ (q't t{)
2s,000 30p00

15,000 20,000

t2

analysing the reason, it was found that 60% of the
under-absorbed overhead was due to defective
planning and the rest was attributed to normal cost
increase. How would you treat the under absorbed
overhead in the cost accounts? (10)

(b) Describe Allocation, Absorption and Apportionment
of overheads. (5)

(q) frqfreq-r Bf-rsr +, v*' 6r{€A + Aqr.il A *{ B
+ fts T4-tuiifrd r$-r + fr si d rpr<r dfrq:

qql 6I mtfuo.wXrm

658 I3

ffift{d qrcot- vt h-qR q.G * sG rsi-ff ilffi-
* sntm qt erhq BrjqF{ *qn Bqr vr<r B :

(i) Aq{ crd fr mq-( t ro rRwa fr gtrr

(ii) +s-d Eqm u * fts +qi wqd d r<w i zo

vfrvn d gkr

(iii) cffi * W aa c{ lo yfr{rd t rz yftrra n-o

$fi t€r 1*-tm t gtrr

(lv; aqqt s+ i rs cfr{rd fr srcrq gBl

ffitq-d qmq,t gq-cer *:

Eqr.r A ffrrm B

3r{crF( sa 80,000 1,20,000

E{
T

't5,000

8p00

5,000

30,000

3,000

40,000

7,000

frqrrr A
?

Aqrrr B

?

3 2

(e) qRRE arurR< \rR nunfr flr t? Es+ +srFo aA
* qrcqr frfrqt


